Answer on Question #39579 - Chemistry - Other

Question

How many moles of alcohol (C2H50H) are there in 4.88 x 1074 L? The density of alcohol
is 0.79 g/mL.

Answer:

Mass of C,HsOH equals:

m = pV
p — Density of alcohol, p =0.79 g/mL = 790 g/I.
V —Volume of alcohol, V=4.88 x 1074 L:
m =790 -4.88-10* = 3.8552-107g

Number of moles equals:

|3

m — Mass of C;HsOH, g.
M — Molar mass of C,HsOH, equals:

g

M = 2M(C) + 6M(H) + M(0) = 2112 + 61 + 16 = 46—

Then number of moles in 10.0 g of C;HsOH equals:

_ 3.8552 - 107
B 46
Answer: n = 8.4 - 10° moles.

n = 838087 moles = 8.4 - 10° moles
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